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Note :– This paper is of Thirty five (35) marks divided into

two (02) sections ‘A’ and ‘B’. Attempt the

questions contained in these sections according to

the detailed instructions given therein. Candidate s

s h ould lim it th e ir answ ers to th e qu e stions on

th e given answ er s h e et. No additional (B) answ er

s h e et w ill be is su ed.

  (35)  (02)

          





       





A–055/BSCCH –302 ( 2 )

         /CH –10

Section–A

–

Long Answ er Type Questions

 2×9½=19

Note :– Section ‘A’ contains Five (05) Long-answer type

questions of Nine and Half (9½) marks each.

Learners are required to answer any tw o (02)

questions only.

 (05) 

(9½)

(02) 

1. Define the alkoloid and outline methods for the extraction

of alkoloid from plant materials. Give the method of

synthesis of the Nicotine.



         



2. Attept any tw o of the following :

(a) Bischler Napieralski synthesis

(b) Skraup synthesis

(c) Pomeranz fritsch synthesis
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

 

 

 

3. (a) Define the term enzyme. Give the Key and lock

induced model for the enzyme action.





(b) What you understand by Vitamines? Give the

classification of vitamines.





4. What is the DNA ? Discuss the structure and main

functions of the DNA.

 



5. (a) What is the coupling constant ? Discuss the all

type coupling constant.




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(b) Find out and identify the structure of the

compound containing molecular formula

C4H8O2 with spectral HNMR data :

3H (triplate) = 1.25 δ

2 H (quatrate) = 2.3 δ

3H (singalate) = 2.0 δ

HNMRC4H8O2



3H (triplate) = 1.25 δ

2 H (quatrate) = 2.3 δ

3H (singalate) = 2.0 δ

Section–B

–

Sh ort Answ er Type Questions

 4×4=16

Note :– Section ‘B’ contains Eight (08) Short-answer type

questions of Four (04) marks each. Learners are

required to answer any four (04) questions only.

 (08) 

(04)

(04) 
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1. Discuss the formation of and reaction of organo zinc

compound.



2. What are organo sulphur compound ? Give tw o method

for the formation of sulphonamide.



 

3. Explain why :

(a) Why pyridine is more basic than pyrrole

(b) Why pyrrol more aromatic than furan



 

 

4. What is the Mutarotation ? Discuss the mechanism of

mutarotation.





5. Attempt any tw o of the following :

(a) Boilogical importance of unsaturated fats

(b) Chemical shift

(c) Messenger RNA
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

 

 

 

6. Explain the iodine value and cleansing action of soap.



7. What are synthetic detergents? Why they are soapless

soap.



8. What is the Indigo dye ? How synthesis the indigo dye.



**************


